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1. �5EF>?>?>65=<5 >5N5>F4  
 �D4E=>44DE><= >D4=, D4=>= �46?>6E><=, 
EF4=<F4 �46?>6E>4O 

2. 
�?>M44L >5N5>F4 +/- 65?<G<=4 
?>7D5L=>EF< >?D545?5=<O ??>M44< ($ +/- �5?LF4 $) 
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1. %<EF5<4 >>>D4<=4F   �%�-23, 7>=4 2 

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >5N5>F4  

�5>7=4G5=<5 
E4D4>F5D=OE F>G5> 

7D4=<F 

�>>D4<=4FO, < �5F>4 
>?D545?5=<O 
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E4D4>F5D=>= 
F>G><  
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?>7D5L=>EFL 
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E4D4>F5D=>= 
F>G>< (�t), < 

�?<E4=<5 
>5>7=4G5=<O 

F>G>< =4 
<5EF=>EF< (?D< 

=4?<G<<) X Y 

1 2 3 4 5 6 

1 600041.14 2213444.77 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 
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2 600019.45 2213485.40 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 
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3 599999.79 2213522.26 

�5F>4 E?GF=<>>6OE 
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<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

8 599952.51 2213586.59 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

9 599972.98 2213555.79 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

10 599992.73 2213518.50 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

11 600012.39 2213481.64 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 



2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >5N5>F4  

�5>7=4G5=<5 
E4D4>F5D=OE F>G5> 

7D4=<F 

�>>D4<=4FO, < �5F>4 
>?D545?5=<O 
>>>D4<=4F 

E4D4>F5D=>= 
F>G><  

%D54=OO 
>644D4F<G5E>4O 

?>7D5L=>EFL 
?>?>65=<O 

E4D4>F5D=>= 
F>G>< (�t), < 

�?<E4=<5 
>5>7=4G5=<O 

F>G>< =4 
<5EF=>EF< (?D< 

=4?<G<<) X Y 

1 2 3 4 5 6 

12 600029.73 2213449.16 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

13 600026.39 2213450.89 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

14 600022.60 2213443.71 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

15 600032.99 2213437.26 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

16 600035.54 2213442.08 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

1 600041.14 2213444.77 

�5F>4 E?GF=<>>6OE 
75>457<G5E><E 

<7<5D5=<= 
(>?D545?5=<=) 

0.1 - 

3. %6545=<O  >  E4D4>F5D=OE  F>G>4E  G4EF<  (G4EF5=)  7D4=<FO >5N5>F4 

�5>7=4G5=<5 
E4D4>F5D=OE F>G5> 

G4EF< 7D4=<FO 

�>>D4<=4FO, < �5F>4 
>?D545?5=<O 
>>>D4<=4F 

E4D4>F5D=>= 
F>G><  

%D54=OO 
>644D4F<G5E>4O 

?>7D5L=>EFL 
?>?>65=<O 

E4D4>F5D=>= 
F>G>< (�t), < 

�?<E4=<5 
>5>7=4G5=<O 

F>G>< =4 
<5EF=>EF< (?D< 

=4?<G<<) X Y 

1 2 3 4 5 6 

- - - - - - 

      

      

      

      

      

      

      

      

      

      

      

      



 

$4745? 3 

%6545=<O > <5EF>?>?>65=<< <7<5=5==OE (GF>G=5==OE) 7D4=<F >5N5>F4 
 

1. %<EF5<4 >>>D4<=4F   - 

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >5N5>F4 

�5>7=4G5=<5 
E4D4>F5D=OE 
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